Intermediate Algebra - 5.6 - Factoring September 23, 2015

Ch 5 - Exponential Expressions & Polynomials

HW #5 - Due Tuesday, 9/15:

5.1 #63-85 odd 5.1 - Exponential Expressions
HW #6 - Due Wednesday, 9/16: 5.2 - Intro to Polynomials
5.2 #3-7odd, 15-250dd, 35-490dd 5.3 - Multiplying Polynomials

HW #7 - Due Tuesday, 4/22: 54 - wadm‘g Polynomials
5.3 #25-290dd, 43-510dd, 61-670dd, 89-970dd, 109-1170dd 5.5 - Factoring

5.6 - Special Factoring
HW #8 - Due Friday, 9/25:
5.4 #19-25 odd; 27-43 odd; 55-61 odd
5.5 #21-47 odd

5.7 - Solving Equations by Factoring

HW #4a - Due Tuesday, 4/29?
5.6 #3-131 odd
5.7 #35-49 odd, 51-57 odd, 61-750dd

Test 3 - Tuesday, 9/297?

Review:
Multiply the polynomials: (3.962 — x3 4+ 2x+ 1)(4.%‘ — 5)
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Divide the polynomials: X + 3x* — x% + 5x3 — 2
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11, Write the interval in set-builder notation:
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13, State the equation of the line passing through the point (3, —7) whose slope is undefined.

X=3

14. State the distributive property of real numbers.

& (b+c) = ab+ac
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15. A system of equations with a single solution is called l n d'e'lp ® n‘d'Q/ n-t

A pair of lines intersecting at a single point is an example of this.

16. A system of equations with no solution is called W\.Co ns‘ 5 -l- e nt

A pair of parallel lines (which never intersect) is an example of this.

17. A system of equations with infinitely many solutions is called ie p{a‘\ J U\ .h

A pair of equations representing the same line is an example of this.

Factor trinomials of the form
ax2+bx+c

When a=1, we look for factors of ¢ that sum to b.

When a is any constant other than 1, we will

« look for factors of c*a that sum to b,

o rewrite bx as a sum of two terms whose coefficients are those
factors,

« factor by grouping.
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